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Before you start to answer the questions you must check this
booklet and ensure that it contains all the pages (32) and see that
no page or portion thereof is missing or repeated. Candidates are
also required to check that they have got the right question booklet
strictly for the post candidate has applied for and printed on the
Admit Card. If you find any defect in this Booklet, you must get it
replaced immediately.

OMR Answer-Sheet is within the Question booklet. Please ensure
OMR Answer-Sheet number and Test Booklet No. of Question
Paper are same. Read the instructions printed on OMR Answer
sheet carefully before filling the information on the OMR Answer-
Sheet. You must complete and code all the details on the OMR
answer sheet correctly failing which your answer sheet may
not be evaluated. You must also put your signature on the OMR
Answer-Sheet at the prescribed place before you actually start
answering the questions. These instructions must be fully
complied with, failing which, your OMR Answer-Sheet may not
be evaluated.

The OMR answer sheet will be in triplicate (Original and two
carbon copies). Candidate has to take one carbon copy (marked as
‘candidate copy’) with him/her after examination and handover the
original OMR along with one carbon copy to invigilator. If candidate
fails to handover the original OMR along with one carbon copy to
invigilator, his/her candidature will be cancelled. Further, if the
candidate tampers with candidate OMR carbon copy and claims
for same, in that case also his/her candidature will be cancelled.

This booklet consists of 100 multiple choice questions. Each
question has 4 (four) alternatives (a), (b), (c), and (d). In any case
only one alternative will be the correct answer. In case if you find
more than one correct answer, then choose the most appropriate
single option and darken the appropriate circle in the answer
sheet in front of the related question.

For each correct answer One mark will be given and for each
incorrect answer 0-25 marks will be deducted.

Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any
question if more than one circle is darkened, machine will allot
zero mark for that question.

Do not fold OMR Answer-Sheet in any case.

No rough work is to be done on the Answer-Sheet. Space for rough
work has been provided in this booklet.

Mobile phones and wireless communication devices are completely
banned in the examination hall/rooms. Candidates are advised
not to keep mobile phones/any other wireless communication
devices with them even switching it off, in their own interest.
Failing to comply with this provision will be considered as using
unfair means in the examination and action will be taken against
them including cancellation of their candidature.

Candidate should not leave the examination hall/room without
handing over his/her Answer sheet to the invigilator and
without signing on the attendance sheet at proper place against
your roll number, further candidate should also ensure that
booklet no., booklet series and OMR answer sheet no. are correctly
written on attendance sheet before signing on it, failing in
doing so, may lead to disqualification/ no evaluation of OMR
Answer-Sheet.

In case of any discrepancy found in Hindi language, English version
will be treated as final.
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1. CS (Medical Attendance) Rules

are not applicable to
(a) Defence Services Personnel

(b) Government servants

governed by CGHS
(c) All India Service Officers

(d) All of the above

. If the interests of a third party is
involved in the formation of reply,
sought under RTI Act, the
maximum time limit to get the
information will be

(@) 30 days
(b) 40 days
(c) 45 days
(d) 60 days
. Under the Payment of Gratuity

Act, 1972, the maximum gratuity
payable is

(a) T 10 lakhs
(b) X 15 lakhs
(©) 20 lakhs

(d) ¥ 25 lakhs

. Superannuation, in case of
Provident Fund and
Miscellaneous Provisions in
relation to an employee, means
the attainment of age.

(@) 58 years of
(b) 60 years of
(c) 62 years of
(d) 65 years of

. Hiowd, (Fafercar sufeufa) frm L8

AT T B 2
(a) & BaT HIfH

(b) HosHoTHTH, GRT MG TLHT
TR

(c) 3Raet Rl Tan rferemie
(d) STk Gt

. Tfe R3S HATTTH & Tarid 7 Y

I I ¢ H fopeht e veg < fga et 2,
T I K T Afeehan gy wi
&t

(@ 30 fe
(b) 40 e
(c) 45 fe
(d) 60 fex

. I s sAfafem, 1972 % I,

HAlerehaH ¢F IUGH &
(a) 310 v@
(b) T 15 @
(c) %20 @m
(d) T25

. wfesy fafer 3 fafae greamt & amet 4,

Tortt st o Hey 0 tRafiar = 37
TTH T 3

(a) 58 @ &t 3y
(b) 60 T Hi 3Y
() 62 a9 & Y
(d) 65 a4 & Y
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5. Every

7.

employee who has
completed _____ of service is
compulsorily required to make a
nomination.

(a) 6 months
(b) 1 year
(c) 2 years

(d) None of the above

. Within of gratuity becoming

payable, the employer shall pay
the gratuity to the person to whom
it is payable.

(a) 60 days
(b) 45 days
(c) 30 days
(d) 90 days

Which CCS (Conduct) Rule
prevents the criticism of the
Government?

(a) Rule 8
(b) Rule 9
(c) Rule 7

(d) Rule 11

. CCS (Conduct) Rules apply to

(a) every person appointed in a
civil service

(b) every civilian in defence
service

(c) Both (a) and (b)

(d) None of the above

CEE 9w 9 e

! ATHTSR HT 3R &9 ¥ 37693 2|

() 67E
(b) 1a9
(c) 2=
(d) IRH H ¥ HIE Tl

. SCH TS = fiax, e 3|

STtk ol IUSH 1 WM s, Tl 78 e
2l

(@) 60 fe
(b) 45 fex
(c) 30 fem
(d) 90 fem

. HH-TT HoHloTHo (3T=RET) o, TR

T TTCAHT T UsheT B 7
(a) f=m 8
(b) T=m 9
(c) Trm7
(d) w11

. HioHlowH, (3Tm=rer) f=m T A

B &

() Fafet a1 § e o =afe
(b) &1 |1 H Yk ARG

(©) (a) 3T (b) SH

(d) SR H & FE T
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o.

10.

11.

12.

In CCS (Conduct)
Government means

Rules,

(@) the Central Government
(b) the State Government
(c) Both (a) and (b)

(d) None of the above

Employment of near relatives of

Government servants in

companies or firms is defined in
of CCS (Conduct) Rules.

(@) Section - 3
(b) Section — 4
(c) Section — 6
(d) Section — 8

Rule 11 of CCS (Conduct) Rules
explains

()
(b)

the evidence before committee

the unauthorised
communication of information

election

()

(d) gift

Verification and communication of
qualifying service should be done
after

(@) completion of 10 years of
service or 3 years before the
date of retirement

(b) completion of 5 years of
service or 2 years before the
date of retirement

(c) completion of 15 years of
service or 7 years before the
date of retirement

(d) completion of 18 years of

service and S years before the
date of retirement

10.

11.

12.

. HoHioW, (3o fami |, TR #

37 B

(a) 5 TR

(b) TSI TR

(c) (a) 3R (b) €

(d) STk U 9 HIg Tl

T T % fiehe e i e
I AT H TSR e bl HloHloTHo (3TTER0T)
fadier & whenfya feam w2
(a) &/ -3

(b) & -4

(c) 9 -6

(d) &/ -8

ot (3m=wer) et =1 frm 11
Bl W% Al Bl

(a) @fufe < Tuer anex
(b) ETHT hT IHTIHA TR
(c) I

(d) 39BN

FEHHl Tl H HAWT IR HYSO,

FrferRea o = formes e foran ST =nfR ?

(@) 10 ¥ T Fa1 T BT AT HaTHIR
i fafr @ 3 af g

(b) 53 I Hal g BT AT FATR
fafr @ 2 af

(c) 15 = <l Han g &A1 AT FETHA
$i fafr @ 7 af g

(d) 18 = <1 Fa gt B STR Fanfafa
i fafr @ 5 af g
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13.

14.

15.

16.

The Central Government Civil
posts are classified into _____
groups after implementation of
seventh CPC.

(a) three

(b) four

(c) five

(d) six

Which of the following shall
ordinarily be a disqualification for

future employment under the
Government?

(a) Compulsory retirement
(b) Removal from service
(c) Dismissal from service

(d) All of the above

A penalty under Rule 11 can be
imposed only by the

(a) Appellate Authority

(b) Punishing
Authority

(Disciplinary)

(c) Reviewing Authority

(d) None of the above

What is an association of workers
for the purpose of maintainance
or improving the conditions of
their employment called?

(a) Trade Union

(b) Federation

(c) Colony

(d) None of the above

13.

14.

15.

16.

grad] HofloHlo & HR<ET % 9IC g
TR % Tferct uei =t T H afiehd
fomam mam B)

() <M
(b) =
(c) |
(d) =8

Fr=fafea o @ -, AR W TSR
o dgd JiasT o TSR < foIT ues 3mman
gt ?

(a) STaTE HaTHaR

(b) el ¥ g
(c) e A sEiEt
(d) 3wk |t

fm 11 & dga, AT Haa g
TR S Hehal 2

(a) ITdie FTREsr
(b) TETCH (ITIRIEHTCH ) STferehI
geteqr wTfereRrl

(c)
(d) SHG A U HIE T
I UsR hH ffedi sl s= wed @

T o g3 I, Aehi o Th T I =1
el Sl 87

(a) e FtEH

(b) HEWEH
(c) BT
(d) SHG A U HIE T
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17. No joining time is admissible in

18.

19.

20.

case of temporary transfer for a
period not exceeding days.

(@) 120
(b) 180
(c) 240
(d) 300
One time lumpsum amount as
incentive for acquiring PhD or

equivalent qualification by a
Government servant is

(@) ¥25,000

(b) ¥ 15,000

(c) ¥20,000

(d) ¥30,000

Wilful absence from duty is treated
as dies-non for the purpose of

(@) annual increment

(b) gratuity

(c) pension

(d) All of the above

A Government servant can hold
lien on the post in his/her parent
department while getting
employed in other department for
a period of

(@) one year
(b) two years
(c) three years

(d) four years

17.

18.

19.

20.

i o At srafy & foro sreomh
TTTARTT o HIH H, SIS HRIVT T
&1 T9g il T 2

(@) 120
(b) 180
(c) 240

(d) 300

TR R gRT TSl AT THRET Il

T S o ToTu TicdTed & &9 # Thged
LU

(@) ¥25,000
(b) ¥ 15,000
(c) ¥20,000
(d) 30,000

Sl U eIt STUfd T &l
% 3299 § ‘Il feaw’ 7 S B

() ¥ 5 g
(b) Iegd

(c) HH

(d) IwE Tt

Teh LR ShA= 37 fovm | shRitd d
BT, 310 A fovmT # ug W FefaRaa o
Y forg 7afY I TR T Fehel B 7

(@) THN
(b) @ =
(c) < ad
(d) =R T
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21. ;‘;s Iie;tfie Rqug 11 g otf hCCS (lie\ﬁslid 21. HlHUdH, (FMfYd oa) f=m, 2016 &+
ay) Rules, , there shall be S o
two dates for grant of annual 10 % S, L R % HaH
increment, namely A o forg  feifern gft, reiq
() 1% January and 1°' July of (a) T AY 1 SHE 3T 1 JeTs
every year - .
b) YIH 1 3 1 3RS
(b) 15t April and 1% October of (b) .
every year (¢) T 9Y 1 WS 3R 1 foade
(c) 15t May and 15 September of (d) IRH T Y HE TE
every year
d N f the ab . .
(d) None of the above 22. 73 gt A ST % wr e
22. Under the revised pay scale of 7th 3, mﬁ%aﬂq%%aﬁq%ﬁ—%
Central Pay Commission, the & o 9 Eer 7|
annual increment is allowable at
the rate of % of Basic Pay. () 2
(a) 2 (b) 3
() 4 (d) S
(d) 5
23. I Yl o 3299 ¥ IEr |, T
23. Family, for the purpose of T 2
Travelling Allowance, does not
include (a) TEIRHT W
(a) minor brother (b) TFh s
(b) major brother () dweh =t
(c) stepmother
) (d) SAfcETiEd s&=
(d) unmarried sister
24. Dependency income criteria from 24. IET Hodl 3R TodloHlo o foiu, giEm §
all sources for inclusion in family It S & foru ot =at & 3 3t
for Travelling Allowance and LTC . .
shall not exceed per month. es i e @ s @ e
(b) 29,000 (b) ¥9,000
(c) 26,000 (c) ¥6,000
(d) T 12,000 (d) 12,000
ADO01/29-A (7) [P.T.O.



25.

26.

27.

28.

Daily allowance is not admissible
at the tour station for continuous
halt beyond days.

(a) 60

(b) 120

(c) 180

(d) 240

Travelling allowance for local
journey shall be admissible only
if the distance from the normal

place of duty to the temporary
place of duty exceeds km.

(@) 8

(b) 12

(c) 15

(d) 20

Any employee with ___ of service
on the date of journey performed

by him/his family is eligible for
Leave Travel Concession (LTC).

(@) 1 year

(b) 2 years

(c) 1.5 years

(d) 2.5 years

Encashment of Earned Leave
while availing LTC is limited to

days of the Earned Leave on
one occasion.

(a) 15
(b) 10
(c) 20
(d) 30

25.

26.

27.

28.

TEIE W Tl 9 Al T
T T R v SR TE 2

(@) 60

(b) 120

(c) 180

(d) 240

T IET & o amEn wwr hae aoft
TIhr BRI, TS THTT S S & et
EPURSIEE R U oy it i e
&l

(@ 8
(b) 12
(c) 15
(d) 20

g Wt swr=E foreeht amn < faftr o aen
_____ 2, 98 JgHhTN I1A1 fITEd
(TAoIHTo) o TeTu I B

(@) 199
(b) 2 a9
(c) 1-5a9
(d) 2-5a9

TAoSloElo ST T 33T T, JATSid STehT
T TheIehtll, Tsh JTaHT T 3ATSd TR
% _ fedt 9o Hifia B

(@) 15

(b) 10

(c) 20

(d) 30

ADO01/29-A
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29.

30.

31.

32.

Financial powers of the
Government, which have not been
delegated to a subordinate
authority, shall vest in the

(@) Union Cabinet

(b) Finance Ministry

(c) Parliament

(d) President

A Ministry or Department, at its

discretion, may directly execute
repair works estimated to cost up

to X
procedures.

(a) 20 lakh
(b) 25 lakh
(c) 30 lakh
(d) 35 lakh

after following due

MACPS stands for
(a)

Modified Assured Career
Promotion Scheme

(b) Modified Accelerated Career
Progression Scheme

(c) Modified Accelerated Career
Promotion Scheme

(d) Modified Assured Career

Progression Scheme

The benefit under MACPS is

available up to level _____ of the
pat matrix.

(@) 14

(b) 15

(c) 10

(d) 13

29.

30.

31.

32.

TR 1 Torfia wifrat, s fepelt srefieer
ITTRTT <! Tal T 718 &, 7 fafea
gt

(a) sr uhmsd
(b) Tort H=TeT
(c) THg

(d) Tgafd

1S TATeTT A1 fqmT 3194 faear 3t
TTShAT3TT T UTe ohid o 9T, T
Toh hl AT T ITel TOHd it i
e fsafed X gehar 21

()
(b)
(c)
(d)

20 =@
259"
30 @

35 ™

MACPS @1 374 H

(a) Modified Assured Career
Promotion Scheme

Modified Accelerated Career
Progression Scheme

(b)

Modified Accelerated Career
Promotion Scheme

Modified Assured Career

Progression Scheme

(©)

(d)

MACPS & 3idiid @v, 3¢ Afeed &
TR de 39 2|

(@) 14
(b) 15
(c) 10
(d) 13

ADO01/29-A
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33.

34.

35.

36.

Substantive pay means pay other
than

(a) special pay
(b) personal pay
(c) emoluments classified as pay

(d) All of the above

The Central Civil Service (Revised
pay) Rules, 2016 came into force
on

(a) 01.01.2015
(b) 01.07.2016
() 01.01.2016

(d) 01.04.2016

In case of employees, whose pay
in revised pay structure is fixed
on 01.01.2016, the date of next
increment shall be on

(a) 01.07.2016
(b) 01.01.2017
(c) 01.07.2017

(d) None of the above

A Government employee will
become entitled for increment on
completion of his/her service for

(@) three months or more
(b) six months or more
(c) one calendar year or more

(d) one financial year or more

33.

34.

35.

36.

A ¢ o 1 Y g, % ITATE
3T |

(a) Tomiw o=
(b) Jafehes A
(c) o % &9 H fiehd AReTfeal
(d) STk @t

S fofoe G (FoifE o) frem,
2016, ! AN 3 o1l

(a)
(b)
(c)
(d)

01.01.2015
01.07.2016
01.01.2016

01.04.2016

= wd=nfet 1 991 01.01.2016 =t
TMferd Sa T o AR fuifa o
TRIT 8, 3%k HIWC! | STTeA o gfg 6t faf
I i

(a) 01.07.2016

(b) 01.01.2017

(¢ 01.07.2017

(d) STk U 9 HIg Tl

T M HHARI SO danehl o
BN W I Ifg HT gher 2|

(@) @ TEN a1 3T Al
(b) ©8 WEH AT 3TH R
(c) U hoiet a¥ a1 30 e
(d) e Tt o o1 3u@ sl

ADO01/29-A
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37.

38.

39.

LTC cannot be availed during

(a) maternity leave

(b) study leave

(c) weekend holiday without
availing any leave

(d) Earned Leave

In the roster for direct

requirement on open completion

basis, the 8™ and 19t posts will

be filled by

(a) UR

(b) ST

(c) SC

(d) OBC

The rate of leave salary

contribution, when a Government
employee is on foreign service, is

(@ 11% of Basic Pay of his
substantive post

(b) 11% of Basic Pay and DA of
his substantive post

11% of Basic of deputation
post, DA and deputation duty
allowance, if any

(d) 11% of the Basic Pay of the

deputation post

37. TodloHlo 1 oY TohE THT W A& foram s

38.

39.

Hehal &7
(a) WG TR
(b) TSR JTH

(c) wHTEd W Il &b e ferm fomeht

BEES
(d) AT 3TaepT

YT AT S W T8t 3ATa9ehdT
foTu Tt # 89 3T 194 Ugi < q
T ST

(a) IFRfaa

(b) STgEfed St

(c) el sfa

(d) 3o

TS I ThRT hHER] Toest e W BIdT 8,

1 gl daq JAMEH e &Il 2|
(a) 3H TS UE % el dad BT 11%

(b) 3Gk A I IR TA IE  SloTo I
11%

(c) FfaFIRE 98 & o 9, Sholo 3N
Sicigfh ek e, AfE IS &, A

11%

(d) wfafgie 9 o I oaq & 11%

ADO01/29-A
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40. For the candidates belonging to

41.

42.

SC/ST categories, the maximum
age limit for direct recruitment/
promotion will be relaxed by
years.

() 3
(b) 4
() S
(d) 6
For the candidates belonging to
OBC category, the maximum age
limit for direct recruitment/

promotion will be relaxed by
years.

(@) S
(b) 4
() 3

(d) 2

Which of the following cannot be
marked as dies non?

(@) When the official remains
absent from duty without prior
information

(b) When the official comes late

(c) When on duty in office, the
official leaves the office
without proper permission
(d) When the official remains in
office, but refuses to perform
duties assigned to him/her

40. gf=a Sfa/sggfea SHefa it

41.

42.

sl & fau et weff/oeafa =g
ferehem 311 Em & 9 I e
ST |

(@) 3
(b) 4
(©) 5
(d) 6
HosoHlo o1 b FEATIT o foru Hiefi weff/

TSIt &g ke A da A
61 e <t S|

(@) 5
(b) 4
(c) 3
(d) 2

Frafefaa o @ fra sl feaa’ S s o

Tafga =& foran <1 wehar 2 7

(a) & 3Tfeehl o I8 F=T & S |
FIRE TEdT &

(b) & RHRY T & AT B

(c) T HETTT H S o GNH, STerehd

Sfera 3Tt % for Bt o1 2
2

(d) ST 3Rk e § T 8, iR
3G9 T shd A shl i T ThT T
T 8

ADO01/29-A
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43. Person with disadbilciltiels fo;; 43. R % fou fesam st @ areaed U
reservation means individuals wit S e S
not less than % disability in 8, i ?{&’.W’
vision, hearing, impairment and 3R FeH-The | faspammal % §
locomotor disability. %9 7 8
() 25 (@) 25
(b) 40 (b) 40
(c) 35 (c) 35
(d) 45 (d) 45

44. A person with d1sab111tles is 44. ﬁwﬁ&lﬁﬁaﬁmlﬁmﬁ a4
entitled for age relaxation of E—
years. T I SAMHR 2
(@) 5 @ 3
(b) 7 (b) 7

9
© 9 (c)
d) 10
(d) 10 @
45. Ex-serviceman should pay a fee of 45. vqqd af4eh w1 dieht welf o fofe, smmiea
% prescribed for UR 3R 3 Reiia o B A
candidates for direct recruitment. %g °qe
T B
(a) 25 @ 25
(b) 33 (b) 33
(c) 50 (c) 50
(d) O (d) 0

46. Lumpsum awards for passing
Hindi Stenography Examination 46. &< freor I &t fgw<dt SRy adieq
of the Hindi Teaching Scheme is TR % ST ¥ 0l T T TR R

through own efforts. o 3

(a) ¥3,000 @) 3,000

(c) ¥2,400 () ¥2,400

(d) ¥ 1,500 (d) ¥1,500
ADO1/29-A (13) [P.T.O.



47. Which of the following bodies

48.

49.

50.

comes under the purview of Right
to Information (RTI)?

(@) Narcotics Control Bureau
(b) Enforcement Directorate
(c) Research and Analysis Wing

(d) None of the above

If the Public Information Officer
fails to give information to the
informant within the period
specified under the Right to
Information Act, it is called

(a) deemed rejection
(b) contempt
(c) timeout

(d) None of the above

As per GFR 2017, earnest money
is to be returned to the
unsuccessful bidders within

days of the award of contract.

(a) 15
(b) 30
(c) 45
(d) 60

is a rough copy of
communication emanating from a
section of a department.

(@) Note
(b) Summary
(c) Final Order

(d) Draft

47.

48.

49.

50.

frfefea & @ sF-w1 fem, o +
IAMIBR (ARe03TEo) o TR H SATT 87
(2) THRITEH shelet S

(b) Serad Teemer

(c) ITgHg™ Ta fowersor fom

(d) IHREH U HIE T

afe e gemT It i, gu % Frfen
Afufem & dgd fafdse s@fy & i
FeEHTEr w1 GeAT & 1 faset TEar B, @
W e 9l gl

() T STl

(b) STEEFAT

(c) wHI TuIfy

(d) IHRE H ¥ S5 &I

TR 2017 & ITER,  TERA
Siefierais I ey fou SH %

fedi % ot s Ui S e B 2l
(@) 15

(b) 30

(c) 45

(d) 60

_ forelt T %6 argum @ frehe I
AR Hl TH T Hidl gl

(@) A

(b)

(c) aifem atme

(d) e

ADO01/29-A
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51.

52.

53.

54.

55.

Choose the correct option to fill
in the blank :

Each of the boys ___ a prize.

(a) deserves

(b) deserve

(c) is deserving

(d) are deserving

Mark the correct meaning of the
following idiom/phrase :

‘Go through fire and water’ means
(a) to be ready

(b) do part by part

(c) adifficult task to do

(d) to pass through all types of
hardships

Choose from the alternatives a
word which is a synonym to the
given word.

INTREPID
(a) Ugly
(b) Fearless
(c) Selfish
(d) Coward

Choose the word which is an
antonym in meaning to the given
word.

DAINTY

(a) Coarse
(b) Graceful
(c) Delectable
(d) Obedient

Match the underlined idiom/
phrase with the most suitable
meaning :
Kindly don’t thrust your nose into
his affairs.

(a) Advise me about

(b) Be in opposition

(c) Deal with

(d) Meddle officiously in

56.

57.

58.

59.

Four alternatives a, b, c and d are
given under the sentence. You are
required to select the most suitable
alternative to fill in the blank in the
sentence to make it meaningful.
My little sister upset the kettle of]
boiling water and her right
hand badly.

(a) wounded

(b) sizzled

(c) scorched

(d) scalded

Complete the sentence by
reordering the given sentence :
The weather at the hill station
(P) was spell bounding

(Q) accompanied with cool breeze
(R) which made the place a heaven
(S) as there was a light drizzle
(a) QSPR

(b) PSQR

(c) QPRS

(d) QRPS

Identify the segment in the given
sentence which contains a
grammatical error.

The scientist could not hardly
complete all the experiments.

(a) The scientist

(b) could not hardly

(c) complete all the experiments.
(d) No error

Select the most appropriate

meaning of the highlighted Idiom

in the given sentence.

Just add a bit of cheese to your

pasta and Bob’s your uncle!

Reena suggested to me over

dinner last night.

(a) It becomes easily and quickly
achievable

(b) It changes the appearance

(c) It ruins everything

(d) It changes nothing

ADO01/29-A
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60. Two trains are moving towards

61.

each other with the speeds of
25 km/per hour and 83 km/per
hour respectively. What will be the
distance between the trains one
second before collision?

(@) 32m

(b) 35m

() 30m

(d) 40 m

Three pipes A, B and C can fill a
tank from empty to full in 30
minutes, 20 minutes and 10
minutes respectively. When the
tank is empty, all three pipes are
opened up to discharge chemical
solutions P, Q and R into the tank
respectively. What is the
proportion of the solution R in the
liquid of the tank after 3 minutes?

(@) 5/11

(b) 7/11

(c) 6/11

(d) 8/11

60. < et sa: 25 ferariet ufd =e 37

61.

83 fepctiiiet wit =1 =i 7ifd & weh g <l
AR 9 W & T ¥ TH dhs T5d
Tormteat o ot 6 gft o gty

(@) 32 e

(b) 35 X

(c) 30 ex

(d) 40 e

o 98T A, B 3 C Ueh 3! ol @iel o
T A 30 fime, 20 fime sk
10 fire & X Herd 8| 9@ I @ef! 2 B,
qr T ITST ShEST: deh W TR faere
P, Q 3R Rl eg ot o feTe @it ST
21 3 firie & w1e 3 § e 1 foete R
AT HT 27

(@) 5/11

(b) 7/11

() 6/11

(d) 8/11

ADO01/29-A
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Instructions (Q. No. 62-66) : Study the
information carefully and answer the
questions given below.

Eight persons A, B, C, D, E, F, Gand H
are going for a holiday in four different
months i.e., January, March, April and
May on two different dates i.e., 11th
and 22nd. All informations are not
necessarily in same order.

D goes in the month which has even
number of days. Two persons go
between D and F. E goes just after H
but not in the same month. C goes after
B. A goes before G. Not more than one
person goes between C and A. C does
not go in the month which has even
number of days. G does not go in
March. Not more than one person goes
between A and G.

62. Who among the following persons
goes on 11t g anuary?

() B
(b) C
(© G

(d) None of the above

63. On which of the following dates,

does A go on a holiday?
(@) 11 April

(b) 2279 April

(c) 11%" March

(d) 2274 May

91 (900 62-66) : €I TS STHhHT T AHYEH
31 3R A= for o us % S 2

I8 &Rk A, B, C, D, E, F, G 3R H =R
AT 3T HEHT AT S, AT, 310 IR 78
T AT 3TN gl 1+ 11 3T 12 aiRE
T T I R 2| I T foh wft Seeed 36
%0 T 7|

D38 TER T S g e feai i e wm gt
21 D3R F o o= g =afh d 81 E, Hs 3
e JdaT & Afer 36 78R | 98 C, B % we
ST Bl A, G U8 I 81 C 3 A % 9 T
T 3fereh =tk el ST 81 C 39 Te i | T8l Sial
? Toret femi <ht o ow Bt 81 G o= H =& wrarn
21 A 3R G o o9 T | AT =aie 72 oI 2

62. fFEfifga d @& 11 SHal I a1 87

(@) B
(b) C
(© G
(d) SHREH & HIS T
63. f=fcifea & @ forg a@ #1 A g8 W
187
(@) 11 38«
(b) 22 A
() 11T
(d) 223

ADO01/29-A
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64. How many persons go between F

65.

66.

and H?

(a) Two

(b) Four

(c) More than 4

(d) None of the above

Who among the following goes
just after D?

@ G

(b) H

(© C

(d) A

Three of the following four are
alike in a certain way and form a
group. Find the one who does not
belong to that group.

() B

(b) D

(c) E

(d) A

64.

65.

66.

F 3R H % s fhe =it S &7
(@) @
(b) =R
(c) 4% 3l

(d) STk U 9 HIg Tl

frerfoiRad o € %M D % d se ST 8 ?
@ G
(b) H

()

(d) A

fafciRed =R & 9 1 s Mizm ol |
M g 3R U T S 8| A1 Ik fop
i 30 THg U et & B

(@) B
(b) D
()

(d A

ADO01/29-A
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67. Two solutions X and Y containing

68.

69.

ingredients A, B and C in the
proportionof a: b:candc: b: a
respectively are mixed to form a
new category of solution. For the
resultant mixture to have equal
proportion of A, B and C, it is
necessary that

(@) b=(c-a)/2
(b) c¢=(a+ b)/2
() c¢=(a-b)/2
(d) b=(c+a)/2

A computer language that
consists of binary digits is called

(a) high level language
(b) machine language
(c) hypertext language

(d) low level language

A river is flowing with a steady
speed of 4 km/hr. One rows his
boat downstream in the river and
then returns by rowing upstream
in the same river. When he returns
to the starting point, the total
distance covered by him is
42 kms. If the return journey
takes 2 hours more than his

67. A IAT XM YHHAM: a: b: c 3N

68.

69.

c:b:a%IA[AH A, B3R C 74
Bl 8, Fore feretrent wes == wiiet s el
21 ot firsror § A, B 3 C o1 31um
SR 8, 38 [T I8 e g foh
Rl

(@ b=(c-a/2
(b) c=(a+ b)/2
(©) c=(a-b)/2
(d) b=(c+a/2

W g S 2l
(a) TS A oiast
(b) T e

(c) BISHIRL T
(d) T oigat et

e I 4 Tt /g Rrafa g v &
21 T =Afeh A H 9 o TR ST A
FeTdT & 3R TRt 3T 7 7 ar % wfaega
T IR AU SAledT gl ST I8 TR
forg W tedn 2, @ 36k g a9 hi TS H
gl 42 ol Brcht 21 afg Sl <6t amn 4
3Eht STl A | 2 6 fs o &,

outward journey, find the speed R 9@ # et T wem b
of his rowing in still water. S|
(a) 12 km/hr (a) 12 forrft/=rer
(b) 10 km/hr (b) 10 feprft /=T
() 9 km/hr (c) 9 fertt/=a
(d) 6 km/hr (d) 6 feret/=e
ADO01/29-A (19) [P.T.O.



Instructions (Q. No. 70-74) : Study the
data carefully & answer the questions.
Table given below shows the number
of cars in different stores & percentage
of cars in bad condition.

Car Store | Number % age

of Cars | of cars in bad
condition

A 3600 18%

B 2400 12%

C 1300 26%

D 4200 14%

E 1800 15%

70.

71.

Note : No. of cars in each store =
No. of cars in good condition + No.
of cars in bad condition.

The number of cars in good
condition in store B and E
together is how much more than
the number of cars in bad
condition in store A and C
together?

(a) 2656
(b) 2646
(c) 2664
(d) 2668

The number of cars in bad
condition in store A is what
percentage more than the number
of cars in bad condition in store
B?

(a) 105%
(b) 125%
(c) 115%
(d) 135%

o (Jo¥ 70-74) : 3 H FHGES AZEH
H 3N T & W g| = § 78 aferenr Tl
THHT § R hl T 3R T feafd areft i
I gfcrsTa g 7|

HRER | &0

& =

TS 3T
AT ShI <
BIRKIG]

3600 18%

2400 12%

1300 26%

4200 14%

@ | O QW »

1800 15%

70.

71.

e : TS LR T I H G = I
feufy o sl <t dean + wue fRufa § i
I TE|

WR B3R E T 3ohg 3r=at fefa o s <l
T, WR A 3 C o 3ohg @0 feufa o
R <hl e ¥ ferat sifies 27

(a) 2656

(b) 2646

() 2664

(d) 2668

VR A Y TGUd ged H Rl sl T&T, B

B H @« g § $RI ! T A fohaq
ferara 31feres 2 7

(@) 105%

(b) 125%

() 115%

(d) 135%

ADO01/29-A
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72.

73.

74.

What is the average of the number
of cars in good condition in store
C and E together?

(@) 1216
(b) 1226
(c) 1246

(d) 1256

Find the ratio of the number of
cars in bad condition in store B
and D together to 1/4th of the
number of cars in good condition
in store A?

(a) 149 : 127
(b) 149 : 123
(c) 146 : 127

(d) 146 : 123

If 2/ 3™ of the cars are sold from
store D, then the number of cars
unsold from store D is what
percent more than the number of
cars which are in bad condition
in the same store? (Only those cars
which are in good condition are
to be sold)

(a) 2200/21%
(b) 2242/21%
(c) 2268/21%

(d) 2326/21%

72.

73.

74.

TR C 3 E 1 3ohg 7= fefa o il
AT 1 HEd =137

(@) 1216
(b) 1226
(c) 1246
(d) 1256
TR B3 DT 3ohg @ TRl el ®ri

1 T BT WR A T 3t feufa arefl
6 T h 1/4 | U 14 HIfTT|

(@) 149 : 127
(b) 149 : 123
(c) 146: 127
(d) 146: 123

If¢ ©R DH 2/3 HR = A &, a1 &R
D 7 foed At wRI 1 Fe@ 3 wr |
e Rl ot ®ri Sl wen ¥ e
TirRIa 316 87 (Shaet of L S AT &
S Tt TRt § 8)

(@) 2200/21%
(b) 2242/21%
(c) 2268/21%

(d) 2326/21%

ADO01/29-A
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75.

76.

77.

78.

To create relationship between two
tables,

(a) drag the foreign key of a table
into the primary key of
another table

(b) drag any field from parent

table and drop on child table

drag the primary key of a table
into foreign key of another
table

(d) None of the above

()

21 workers can repair a road in
40 days. If they are joined by seven
more workers, then in how much
time the road can be repaired?

(@) 27 days
(b) 28 days
() 29 days
(d) 30 days

A buys n copies of a book at a 20%
discount. B gets the same
number of copies at a 30%
discount. What is the minimum
value of n for which B can buy one
extra copy of the book, spending
the same amount as A?

(@) 6

(b) 7

(c) 8

(d) 9

If January 1st, 2023 is a Sunday,
what day of the week will be on
October 31st, 2023?

(@) Monday
(b) Tuesday
(c) Wednesday
(d) Sunday

75.

76.

77.

78.

T el & s Rermfm s & fog,
(a) foreft 2aeT <t BIRA Foft o1 Ferelt 1=
S ST TSAL il H g7 L
(b) Terelt off Ficg 1 We Taat T 9T L

IR ATEes oA W T
(c) Terelt 3ee <t gl ol w1 foreht
31 A hl BRA Hoil H 3 L
(d) IHREH 8 B T
21 ASigL foret e <l word 40 feai o

L Hhd | Fle 3Tk A1 A IR AT IS
MU, a1 HSh h! JUHT fohad THT § &
et ?

(a) 27 feq

(b) 28 fex

() 29 fe

(d) 30 fex

A Tret g=h 1 n TN 20% B T
Ti{ieal 81 Bl 30% e W 3a-1 & il
ettt €1 n o1 98 =gam wH = g, feh
foTe B, A % sreR TR @ ohieh T i
Teh SAfcifieh Fid @l Fehdl 2 7

(@) 6

(b) 7

(c) 8

(d) 9

gfe 1 S, 2023 i UqaER 8,
31 3TaER, 2023 I HHIE H1 HH-41 &
BM?

(a) GHER

(b) HTER

(c) FHaIR

(d) Term

ADO01/29-A
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Instructions (Q. No. 79 and 80) : In
each of the following questions, two
equations (i) and (ii) are given. You have
to solve both equations and give
answers.

79. (i) 2X°-12x+16=0
(i) 2y>-20y+48=0

(@ x>y
(b) x<y
(€ x=y

(d) y=zx

80. () ¥-3x-40=0
(i) y>+ 11y +30=0
(@) x>y
b) x>y
() y>x

(d) y=zx

81. Ram can ride a certain distance
in 52 days when he rests 10 hours
a day. How long will he take for
twice the distance if he rides twice
as fast and rests twice as long each

e (9oH, 79 iR 80) : F=fafad v g d
a1 R (i) 3R (i) fou T El et g
GHIRT 1 B T & 3 ST T 2

79.

80.

81.

i 2x°-12x+16=0
(i) 2y®-20y+48=0

(@) x>y
(b) x<y
(© x=y
(d) y=x
(i) ¥-3x-40=0
(i) y>+11y+30=0
(@ x>y
(b) x=2y
() y>x
(d) y=x

T weh i gt 52 i o war w5 &
FX HehaT 7, 9§ I8 Tfdfed 10 = A
S 7| I I8 SR T F HA ST B
3R wfdfeT ST 3w e 8, @ 3§

day? T ot 7 A | fehe T @ ?
(@) 182 days (@) 182 feA
(b) 104 days (b) 104 fe
(c) 26 days () 26T
(d) 52 days (d) 52 fex
ADO01/29-A (23) [P.T.O.




82.

83.

84.

Which part of the computer is
used for calculating and
comparing?

(a) ALU

(b) Control unit

(c) Disk unit

(d) Modem

What is the least number which
should be added to 3432 so that
the sum is exactly divisible by 10,
5, 4 and 2°?

(@) 2
(b) 4
(c) 6

(d) 8

A man sells three articles A, Band
C and gains 10% on A, 20% on B
and loses 10% on C. He breaks
even when combined selling
prices of A and C are considered
whereas he gains 5% when
combined selling prices of B and
C are considered. What is his net
loss/gain on the sale of all the
articles?

(@) 10.33% loss
(b) 10.66% gain
(c) 6.66% gain

(d) 3.33% loss

82.

83.

84.

TR 1 hIH-FT WA, TOHT 3T T
foTT 3w fope ST 27

(a) Qo@o%

(b) e e

(c) o=k gfe

(d) #isH

3432 H -4l a8 DI AT St ST

TTfeu, difeh TIMHA 10, 5, 4 32 |

(@) 2
(b) 4
(©) 6

(d) 8

U ARk I TRl A, B 3N C 99 8
3 AW 10%, BT 20% 9 HATIT &
3 CWR 10% I g 31 81 A 3R C
% T foshd Yol W fo=m 1 W 98
TIfRfed & 8, s@fh B 3 C & 93
fosha geail W RN % W 3™ 5%
o B &1 Tl et ohi feshl W SEen
I[g 1T/ R B?

(@ 10.33% &
(b) 10.66% @4
(c) 6.66% @™

(d) 3.33% =

ADO01/29-A
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85. How can you increase the font size 85. 37U T SR T BIre HR & TR Th
f[)ifrrslz;ected text by one point every e 5 T T 3
) (@) Ctrl +;
(a) Ctrl +; (b) Ctrl +1
(b) Ctrl+} (c) Ctrl+ |
(c) Ctrl+[ (d) Ctrl +]
(d) Ctrl + ]
86. ¢ 52 Ui ! Tsh TS H A & I IG5
86. If two cards are drawn at random w0 3 i o &, 9w o S
from a pack of 52 cards, then what , TP 34
is the probability of getting one T TR Teh SHICAT g1 (Bt <l STRehT
red face card and one black ace? FT 7
(@) 1/221 (@) 1/221
(b) 2/221 (b) 2/221
(c) 76/221 (c) 76/221
(d) 5/221 (d) 5/221
87. EF, Gl IL, KO, ? 87. EF, Gl IL, KO, ?
(a) MR (@) MR
(b) NP (b) NP
(© MS (c) MS
(d) NO (d) NQ
88. In which of the following, stored 88. fim o @ fopem, A S B4 % s ot
data remains intact even after the TUTed 221 SR &dT & 7
computer is turned off? (a) RAM
(a) RAM (b) T
(b) Motherboard () et @R feared
(c) Se.condary storage d'evice d) i i R
(d) Primary storage device
89. Through , an administrator 89. %S, UH R
or another user can access 3 IRANTRAT ol 311 SAfh o
someone else’s computer sﬁ@@@@@gaﬂm@
remotely.
(a) administrat (a) HIEIUH
a) administrator
(b) o« TR
(b) web server 3
(c) web application © :
(d) telnet (d) e
ADO01/29-A (25) [P.T.O.




90. A and B together can complete a

91.

92.

job in 8 days. Both B and C
working alone can finish the same
job in 12 days. A and B started
the job and worked for 4 days.
After that, A leaves and B
continues the work for 2 more
days. After that, B leaves and C
starts the job and finishes it. For
how many days C worked?

(@) 5 days
(b) 8 days
(c) 4 days
(d) None of the above

A man purchased three types of
items in the ratio of 2 : 3 : 4 and
their cost prices are I 300, ¥ 500
and ¥ 700 respectively. If he sold
first, second and third type of
items at 10%, 5% and 4% profit
respectively, then find his overall
approximate profit percentage.

(@ 7%
(b) 2%
(c) 5%
(d) None of the above

Charminar is related to India in
the same way as Sphinx is related
to

(a) England
(b) Canada
(c) Egypt

(d) Vatican

90. A 3R B et ferelt o/ w1 8 T § qu

91.

92.

T Fhd &l B 3R C QHI 3Tehct T HLd
BU IE M I 12 fA § QU wehd &1 A
3 B %M & foran 3R 4 fe7 7 &m
Tera| 36 9TE, A 5ot T 3R B 2 3R
fe7 =W 9 T 39 §1e, B 9o T
3R CH %M & foram 3R 38 90 foham| ©
3 feraa g7 = femam 2

(@) 5f&
(b) 8f&
(c) 4 fem
(d) STUH H & Hig TE

Th AR 2 : 3 : 4 o MU H dF ThR
1 TEq GG 3R ITeh! AN oI Sho:
¥ 300, 500, 3t T 700 # afe 3@
vgell, qudl 3 dad TR <l 3l i
ST 10%, 5% 3T 4% 19 T o=, dat
3EhT et STATIG oY Sferera 377 Shifere |
(@ 7%
(b) 2%
() 5%

(d) STk U 9 HIg T&l

IUAR, YR ¥ 3 @ gefud & g
e o, T HelE gl

(a) e
(b) =TS
(c) T

(d) afeeh
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Direction (Q. No. 93 and 94) : Study
the following arrangement carefully
and answer the following questions :

Y7&*MW2@VIN%SL?+98A%
C#HJ"O

93. What is the sum of 3™ number
from left end and 2™ number
from right end?

T (95, 93 iR 94) : F=fafad sEeT=

T S ST i SR ARG T3 oh I

g

Y7&*MW2@VIN%SL?+98A$

C#HJ"O

93. ¥IY BN ¥ e TEl 3R QY BR & gall
TEAT 1 AT HT 87

(@) 16 @ 16
(b) 13 (b) 13
(c) 10 () 10
(d) 12 @ 12
94. How many vowels are there to the : ;
ight Ong’ 94, L% grff 3R fepad T &7
(2) Two @ @
(b) One (b) TH
(c) Three (c) <
(d) None (d) =i T
95. 1f 73°%8 is divided by 10, then what | 95, afe 73588 5y 10 & frefora foram s, <
will be the remainder? Y T B
(8) 3 (&) 3
(b) 1 (b) 1
(c) 7 (c) 7
(d) 9 (d) 9
96. If in a certain language MYSTIFY 96. afe el fifyrd wior § MYSTIFY &1
is coded as NZTUJGZ, how is .
NEMESIS coded in that NZTUJGZ fowan st &, ot 3t s 5
language? NEMESIS ! foret e for@n s 2
(a) MDLHRDR (a) MDLHRDR
(b) OFNFTJT (b) OFNFTJT
() ODNHTDR (c) ODNHTDR
) PGOKUGU (d) PGOKUGU
97. Ifin a certain language, Dis equal 97. afe bt ffer v & D % = 4 7 3R
to 4 and COVER = 63, then how COVER = 63 8, d BASIS = fg
is BASIS coded? TR ShiTed TR SIT@ ?
(a) 49 (a) 49
(b) 54 (b) 54
(c) S0 (c) 50
(d) 55 (d) 55
ADO01/29-A (27) [P.T.O.



98. Examine the images along the top,

illustrating the folding of a square
piece of paper and subsequent
hole-punching. Determine the
representation that accurately
depicts the unfolded appearance of
the square paper after the described
folding and hole-punching process.

98. W Hi AR feu Tu femi it = KK, A

SHATS o Teh TR Zohg hl TS T 3k
¢ 3TH B¢ HH Hl GUd &l 98 TE
frula = 1 affd 98 3R ®g - &
TSR % STG =MhIL HITS o Gl Y TET
1 w4l &Y I giaT B

ADO01/29-A




99. Find the missing number from
among the given alternatives :

4 7
S/ 1 | e4\S
11
(@) 125
(b) 216
() O

(d) None of the above

100. In a certain coding language,

HENCE is coded as FGLEC.
What shall THERE be in that
code?

(a) RFCPC

(b) RIGTC

() RJCTC

(d) RICTG

99, fgu T foehedi § ® TH T TG HifT)

4 7
S/ 1 | e4\S
11
(@) 125
(b) 216
(c) ©
(d) SR H & 1S T

100. T ¥ wifém w1 §, HENCE =1
FGLEC % &9 § <hifed o Siar 21 39
i€ § THERE &1 81 ?

(a) RFCPC

(b) RIGTC

() RJICTC

(d) RICTG

ADO01/29-A

(29)

[P.T.O.



SPACE FOR ROUGH WORK
% e o fog

ADO01/29-A

(30)
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SPACE FOR ROUGH WORK
7 T 3% Fm

ADO01/29-A

(31)

[P.T.O.




SPACE FOR ROUGH WORK
% e o fog
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